
cf=j= 2073.074 ;fnsf of]hgfx? cf=j= 2074.075 ;fnsf k|:tfljt of]hgfx?
qm=;
= ofhgf j*f 

g= /sd ? qm=;= of][hgf j*f g= /sd ?
1 Jofj;flos tflnd, afv|f kfng 1 1 a+u'/ kfng, g]t[Tj ljsf; 1
2 jfv|f kfng, j+u'/ kfng 2 2 lnlr cfFk v]tL 2
3 jfv|f kfng, j+u'/ kfng sfo{qmd 3 3 df5f kfng

4 wf/kfg] 6f]n vf=kf= dd{t, g]t[Tj tflnd, 

l;kd'ns sfo{qmd

4 4 afv|fkfng sfo{qmd 4

5
Jofj;flos ;Lk sfo{qmd, g]t[Tj ljsf; 

tflnd

5 5 du/ efiff l;Sg sfo{qmd 5
6 a+u'/ kfng, l;nfO{ s6fO{, vf=kf= dd{t 6 6 afv|f kfng

7 j+u'/ kfng 7 7 t/sf/L v]tL

8
s[lif ljpm ljhg vl/b tyf tflnd ;~rfng 

ug]{ .

8 jfv|f vl/b / k}rf] sfo{qmd

9 s'v'/f kfng / afv|f kfng sfo{qmd ug]{ 9 t/sf/L v]tL

10 tftfkfgL lnkm\6 vfg]kfgL of]fhgf lgdf{0f 10 10 s'v'/f kfng

11

du/ hfltsf] lrgf/L emNsfpg] 8]«; 

agfpg],afv|f kfng sfo{qmd ug]{ . lk58fju{ -

/fhL_ nlIft sfo{qmd @)&#.)&$ sf] of]hgf

s_ efiff ;+/If0f tyf lnkL vf]h ug]{ v_ 

l;kd'ns tflnd –l;nfO{s6fO{_ u_ g]t[Tj 

ljsf; tyf Ifdtf clej[l4 tflnd

11 11 jfv|f vl/b / k}rf] sfo{qmd

12
lkkn8fF8f s';f/L 6f]n x'Fb} wd]gL 6f]n hfg] 

;8s lgdf{0f

12 12 du/ efiff l;Sg sfo{qmd

13
d]nldnfk s]Gb|nfO{ ? @))) ;xof]u ug]{, 

3'DtLsf]if v8f ug]{

13 13 cfo cfh{g tyf l;kd'ns sfo[qmd

14 –? #))) ;fd'blfos d]nldnfk s]Gb|nfO{ 

;xof]u ug]{ ,–3'DtL sf]if v8f ug]{
14 14 jfv|f vl/b / k}rf] sfo{qmd

15 ? !))) ;fd'bflos d]nldnfk s]Gb|nfO{ lbg], 

jfFsL /sd :k|] 6+sL vl/b ug{
15 15 cfk / lnrLsf lj?jf vl/b sfo[qmd

16 nfnLu'F/f; dfljsf] ;+/rgfdf nufgL ug 16 16 kfgLsf] 6of+sL dd{t

gu/ :tl/o Ifdtf ljsf; 74460 106025
j8f df hfg] 450000 550000
s'n hDdf 524460

e]/Lu+uf gu/kflnsfsf] sfof{no
;'v]{t

cf=j= 2073.074 / 2074.075 ;fnsf] 
cfbLjf;L hghflt nlIft tkm{sf of]hgfx?


